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‘Which solutions are not reached through proper
algorithms or work planning?

stpll U = B S P

Strategized solution Prepared solution

ion Fu A | D . i ion 734/ | B : A
Best solution Jf¢ # Jp(j.,/“y&}; Candid solution Jf34/ Fri e

Total steps of problem solving are: a1, LSS
7 (D | 5 B 2 (A

A well-defined problem does not contain: ' :t'ytu‘.‘; A/Cf st
Clear concept

Ambiguities L/ D Clear goal Jﬁ‘(‘f!} Clear solution Jf&1» B r}:ﬁ”é}l} A

is used to transfer control to certain step of an X .
algorithm: ‘at‘lo.l,fnidii./ i s /‘-‘(/,& et L(J /,fldla“f :

else D goto flowchart i«/lg}ﬁ B algorithm r}é’ g

In which strategy, the designer defines the list of "to-

do" task: -‘wac}fofduféé'cﬁ?ujufurﬁ %
Divide and Conquer
Prototype <+ D | Actitout esTeiekl Gues (ol 41 B S/
Which word refers to something unplanned: 1 lr NP e & Jfﬁmj b
candid 54 D unlimited s & limited s B outdid Wl/:lj: A

Before jumping into the solution of the problem, it is

important to: et S U /"%44./ Sie

Use Guess Draw a picture Define a problem Understand a
2o uils! D 2 Qbgs? PRS-t B | problem bl i | A

This strategy divides a complex problem into smaller

problems: P‘L(}/ f:.d UL AL A g .."y“;f
check and improve check and balance divide and conquer hide and seek
SH bl D Jey Gl NN B el A

This technique draw a pictorial representation of the

solution: ?LB;‘{ PN g U/( t}f eLsud

multi-type At C“' D act it out _‘»7&1&.{! monotype ._?/’W'r B prototype _../B’;;/? A

known as: :‘Lt'm’ ﬁul.ug:( f O/

mid-process iterative process alternative process check process
S s D S s S g B e
The decision refers to the unplanned solution: el g §Sf iécdﬁzqr‘” ﬁ‘ Sz

candid solution
weak solution U:’L’ﬂ/ D u’”}/jj,f solid solution c/&}l’ﬂl/ B | final solution u’}lﬂf@
The different ways to solve a problem are known as: LW ESBLLSSS, A?U/(

The process of repeating itself over and over (loop) is




p olay (ot 1S pluals) fipuses
candid solution 54/
liquid solution uﬁ}m/ D o solid solution f & - final solution &6 A

It is not necessary that the candid solution is the

solution of a problem: KA.’/U’( J’ > ﬁa’/ fif u.'.‘{ et
actual 3227 D immediate $.¢ last u’p first iy A

The best solution is one that: :ﬁﬁ‘-vd’ LA

is based on some seems more effective has less steps U’b/#/
ABCall ABC | p| eriteria n§gelled | C T F 2wl B ndy A
Ctrl + F is the keyboard short-cut to a word, name

or text is:

think & » D write & C find J B see :.‘2_‘"; A

The keyboard short-cut to search a word, name or text

o e L LS e 5
Ctrl + K D | Ctrl + F | c Ctrl + T | B| Ctrl + S A

We can analyze a problem by identifying: ES, o ngg’f"
1Cs D | 5W c 4Ws B 3Cs [A

Red traffic light represents a/an: +3/ U K‘C“z// J &7
happening 7 D solution f analysis o problem .

Yellow traffic light represents a/an: ﬁ'-J/( 72 Jf’ J :

accident 26 D solution Jf analysis ,:7.; problem .

Green traffic light represents a/an: 93/ SeGr 1"
ease Q-7 D solution f analysis ,f.“ B problem .

Which strategies should we use if the problem is not

well-defined? ¢ kb 1 PG b i S
gain background

all the strategies draw a picture use guesses knowledge
U =Pl D bl C bt il B ot/ e A
8F 4 S s Lim s S eolon arsn59 0t U

Who said I would spend 59 minutes defining a problem
and 1 minute to solve it: %’U’/

Issac Newton

Alberuni L};/,}J’ D Marshall J;'/l. Einstein uﬂ"/u:f J,{J'/’T

The steps of defining a problem are: .2 Li S Ué} z
Four /& D Three o Two » B One

How many Ws are identified in the understanding a

problem? ?+3nu?lz4 SBE L&y

Infinity sy D Five ég Three o B One i

Dividing a complex problem into smaller problems is

called: -Lrlk'(t/f:ﬁufu;pé_)‘:i(pn- 2

. o

Guess and improve Divide and conquer
Prototype T D | Actitout sl ek ufl;.ﬁfuu%um B Q/"Ziuu/(:w A
The best strategy is to plan a solution is... -‘Gt}f g LASG S J S
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Act it out 5T eiekl

Guessa and improve

S A o1 4

Divide and conquer

S

A

Candid solution refers to:

_‘gt;,;,lliué - 5}2:’/

None of these

VA

D

Unplanned 4.+ #

Checking e B

Planning & i

A

Shortkey to search in web browser is:

-c‘-J.‘ulf"JL/‘jﬂf'gﬂ/)fl/,%j

CTRLAF |

D |

CTRL+R | c

CTRL+F4 | B |

CTRL+S |

A

Which symbol in the flowchart is used to either start or

end the flowchart?

¢ Qe SUEIL Lok ertes uf Uit b

o . A
Decision £413

D

Process U754

Connector /’CK B

Terminal J~/

A

To determine whether a statement is true or false is

called:

e bl oo Wb el fILT S

problem .

D

solution ()&

processing £+ B

decision making

il b

A

In a flow chart, rectangle symbol represents

:‘aé)’,;w‘f’dz"’u:w

b

connector /*.Q S

D

. _
processing £+

decision St~ Ae! B

input / output

el epesT

A

Which of the following symbol is used for flow of

flowchart?

(."LJMJI.J’Iéé(:@()ﬁ&&/lg}sylkdufufdj,?/#

flowlines /1

D

connector /"‘g[ C

processing —£xs/ B

terminal J~/

It is used to determine the flow of steps in a flowchart:

et Ueid L2, A Gle L1t e

Nz
connector /g/

D

diamond 441} C

flow line /s B

terminal J*/

It indicates start / end of a fl

owchart:

:‘Lb'/d'(&d/r[}ﬂ'lul]lﬂéh‘u,

N
connector /C.'./

D

diamond 415

flow line /U5 B

terminal J~/

It shows a conditional operation such as yes / no of a
test:

question or a ture / false

-‘Lb'//;lb)/..‘/:.:w/é‘ugkd

b | et e T

decision $b- A<

D

diamond i1

input / output

ol pesT B

processing —Exs

It shows input of data from the user or displays the

results to user:

‘QGU/:(:CJ( J/ULC{{J)!’:( Ul ol

start / end rfﬁ’/]l&l’

D

. . A
decision 4413

input / output

el sl B

processing —Exs

to connect
different pages:

parts of a flowchart on

_uj‘é:ﬂv{.ﬁé.

S Ll el ¥ 1

Nz
connector /gf

D

flow line (fUsb C

terminal J~/ B

shapes Jgsi

The information that exhibits the processed results are

known as:

:‘Lb'lglf(fcal.:l“”dbé_//:w:(éﬁ’éu@

output b"g..wl'

D

solution u; *

decision $ib- L B

input <!

In a flowchart, the special shapes used to represent
different steps are known as:

b

icons el

D

symbols =ik

e bl Jeednl el LA, LA
figures elf B z

images =~

A

Flowcharts are considered helpful to know about the

steps used to solve a:

Y, 2 4/)‘7 PV

tAINELE SIS i

bsb
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puzzle #* D sum Ji» C problem . B view £ A

A graphical presentation of the steps to solve a problem

is: :c.g}éd/,,;""JJ'l/z:L/J’quj

]

puzzle .# D flowchart .‘wlg;ﬁ C flow lines 7 U4 B algorithm (Z P g

In flowchart, for each step we use: (g (1 (e )P n .‘,/,:5
icons :Aﬁﬁ D pictures ol symbols Jf‘uc B signs =l A

In flowchart, we use ...... symbols for each: -/ JWIM&;’_L Yiu U':-‘«J‘g:s
situation Jbo.r® D step (,5 puzzle .#* B problem .+ A

In flowchart, we use to connect symbols: Y2 R T 2 el u‘—/,)s
flow-lines 7 s D lines 7 U C ropes < B threads > A

Flow-lines in between the flowchart symbols show the

flow of: -w(}/ ﬁw[)l‘( ...... Vel 'uﬁuyu&.-.w;o’ .‘ulgﬁ

-

ideas JL &1 D processing x5 steps (1] B problems Ju A

Flowchart can be used to: :‘Lﬂlggdla'f’l:«/lg;ﬁ
verity whether a understand the way a

R ) solutina is ?Orrect or problem is solved plan a solution JJ’
ABC all ABC (¥ not J+9U e i f SepLi S Ffes”
LriS Lo

Flowchart is more effective to visualize a solution

graphically than: -‘L}rugst{:f S Lfr/,u"d/,y“’.Llf& ..... .‘ukg:s
text o~ D image .+ outline J& B shape Jg A
GG S S AL S L& L ... piigh

Flowchart is also a good way to communicate the
solution of a problem to other:

ABC all ABC ¢ D users dé/u programmers /‘/i/’i/,: peoples sy

Taking data from the user is called: -+?M e Jiilo

flow of data s{z¥¢} D output sl processing u@}/,: input g A

The requirements of a flowchart are: Zwril:‘d:.:alg)ﬁ..{l

input / output 2o/
ABC all ABC (U’ D deciding Sl ded processing u@/,: B : A

The steps for performing calculations such as adding,

multiplying, dividing etc are known as: -,LH?".O/’/-'? ’f:“ sl pd P &S ep DL S A
storing N 1Yé D accounting @L,l? C processing u@r}/,: B output Loeal A

A flowchart is a presentation of the steps to solve a

problem. -‘Lt'/u?rd‘ﬁ fd’l/é&"u}/&‘u',&
All of these (Uf,: D Mentally g% C Written d/,,/} B Graphical Grr?

In a flowchart, we use input, output, decision making

-t /) Jlf'“ SR (U5 PP :ég&ffn:gcﬂ(: o &/lg}g

All of these (7 D Images ;L5 Processing ..ﬁru,: B Data &5

How many things are used in a flowchart? ‘-‘d!z—/ JW'(U{ZU&/ (7 U':u‘dlg)ﬁ 4
Five ég D Four Three & B One i
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Input means data from the user

None of these

uﬁ’é/uﬁu' D Processing L‘/’/u'i";/?

Giving > B Taking (¢

A flowchart clearly describes a process through
and text.

-§.b/ U‘l::/’))b (‘: lu’/ JI u{l %JJ'Z:U:‘ 9

None of these

uf&fuﬁu! D Program (i/'i/7 C

Symbols =l B Data (.3

used to determine the flow of steps in a flowchart

UL LL S Ll p toih

Decision $ib- e D Processing J’f C

Terminal J*/ B Flow line /s A

symbol indicates the start and end of a flowchart.

...... - GﬁjﬁlJ)J(&il/)l)GTL&/lg)ﬁuw

Decision $il- e D Processing Jf C

Terminal J~/ B Flow line /14 A

symbol represents the operation of change value in
a flowchart.

...... &SSP I LL sz i g horte

Decision §it- A<} D Process J}

Terminal J*/ B Flow line /s A

If a flowchart doesn't fit on a page then we use
connect parts of a flowchart on different pages.

"%,JU-:(U}"A: .wlgﬁa,{.u‘éi ﬂ.,:t’fﬂugj,éf:dlgﬁvgﬁ

g

Connector /*.Q"/ D Decision $il- g}

Terminal J~/ Flow line /i A

is a graphical representation of an algorithm.

:‘ajkygl d/,r‘jx.{lgfyum

Solution D Flowchart .:ulg;r’

Graph i/ B Matrix /¢ A

Devices in a computer network are connected to each
other with the help of ......

U n e o u..{l:..ud/. ..... :—Ui’uf..-@.“j/‘;‘{

Server s/ Client &£1¥

D

Address (/4 B Channel J% A

A set of steps to solve a problem is knows as:

:‘LrWL;f ZL /Lé_/ S

program rl/i4 D algorithm (Zuﬁ!

diagram l"/? f5 B flowchart :«/lg;f’ A

The notation used to transfer control to a certain step
of an algorithm is:

![JVPI..LLL/JD:uﬁ&gfuaﬁugf(;umfdu‘ffﬁbuf

jump to ‘ D ‘ goto ‘ C

move to ‘ B ‘ start with

The notation used to display values or results of
processing is:

e b U1 LSO F 1L sy L2

end ‘ D ‘ goto ‘ C

output ‘ B ‘ input ‘ A

A graphical representation of the process to solve a
problem is a:

e b S AS S LS f e

algorithm (K /}ﬁ!

diagram (i/?b‘ D

flowchart :;Ag;ﬁ B program (l/’i/,: A

Every algorithm must begin with notations:

%lgl?lgg&;il.réuf‘;jffgumﬁ

else ‘ D ‘ start ‘ C

goto ‘ B ‘ input ‘ A

The notation used to get input from a user is:

< b'lgy(dlf:'“l é Lg,..‘/;‘u le—ilo s uﬁ:‘ P

stop ‘ D ‘ begin ‘ C

input ‘ B ‘ start ‘ A

The advantage of a flowchart is that it is easy to:

:‘guVTgf ‘Ldo/ 5(&/%}5

identify errors

b/ estzfusth

ABCall ABC 2 | D

understand & draw (6 A
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The disadvantage of a flowchart is that it requires: 3‘LJ{JJ€J—£J 1 ‘a,uuﬁ(-wlgﬁ
ABC all ABC (¥ D no time U =350 more time =3l J B less time _“:5:{ A

The advantage of an algorithm is that it is easy to: 390‘/75[ 0k W(d A
paint L/&:z D display L’/(/;U:' write tof B draw tt: A

The disadvantage of algorithm is that usage of
statement make it difficult to identify errors:

start I D I set goto | B ‘ inpu
In order to solve a problem, there may be: W éﬂ‘f—-éé—/ S oY

more than one

more algorithms no algorithm algorithms / only one algorithm
f‘;’/}ﬁﬂéf D uf.f/(;uilé:( (B// /'uJ.L‘]:.ugl B (E/uﬁlug.}/ A
If a algorithm takes less number of steps to reach a

result, it is considered: :‘Le’lglﬂ.(éﬁ‘a@){?u})utd’ ! /( fp’ /)U’l.{l)’l

more efficient Z»'ol) | D better # worst ¢/ 74 B good \Z A

An efficient algorithm uses less space in computer: :‘éb'/( Je1. ke [ B /“:‘-."{ / Ay L
system (‘/ D memory $.% processor /¥ sy B disk 3 A

The difference between an algorithm and a flowchart i

just like a different between: et S e Ry L‘Jk’ud:u‘dlg:su‘f uﬁ"s{’

a story and a

none of these painting a story and a play a story and a movie
H et D| Ly 5L 3 ALl | A

Algorithm takes input and then after processing

produces some: :‘LIZJALL/ Jﬁ’ l%ulﬁa@qulfa uull

results &0 D products /s« C output gl B data (3

Arabic writer and scientist Muhammad-Ibn-Musa al- L
Khawarizmi developed: :l//.L}«'Z_dJ/l}lu' PAL NI ot

computer /sz{.{ D algorithm (Z A algebra )’-J:q:f B | mathematics :«/lg;f’
The word "algorithm' associated with the name of .
Arabic writer: ?‘g.,«/."‘ a_(l:d:.i?”‘,}/ J("(J uf!; ;
Al-Khawarizmi

Ibn-e-Batuta )%w D Ibn-e-Sena bz Alberuni [}5/:.)! B d/‘/l}i

provides a stem-by-step guide to the problem .
solvers L e _‘LV/(TI/JWJJI;JP//LI;L/J’A/

algorithm (Enﬁl D program r!/'i/,: flowchart :;Ag;ﬁ B diagram rl/?iﬁ A

Usually a computer programmer first writes an ...... : ‘Lt’j%é—u" / /. 4/ ’.‘J ~..('/./’b (e
idea |7 D program ﬂ/i/,: flowchart bwtg)f’ B algorithm (Z g A

The designer of the program first designs a )
solve a problem _‘cb‘/ ¢ l'/jé;;c./”&LL/ S a7 l'/jK(l;;/,

drawing s D algorithm (E, g flowchart bwtg)f’ B problem "1/'%;/7 A

The word ""notation' means: ieAsknotationsd

sample word £d»l- D key word 5/5d/ code word 55,5 password sl A
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Which one of the following notations are used to write

an algorithm: ﬂab’b&@bﬂé&é{g A u‘{‘ RO P 1§ P
ABC all ABC ( v D if/else input/output B start/stop A

Circle the correct set of notations: U..( G102/, Lo eondl 5
start/end I D I start/stop ‘ C start/goto B ‘ start/input ‘ A

This technique is used to test algorithm: 34‘-‘5!«)@‘7’ 'cj,,-Z:d—/ o / uﬁ/l._g"g‘ -
trace table J’: Y D validation ﬁﬁ;&: C | verification gﬂﬁ“} b2 | B testing e

is a set of steps to solve a problem. Its written in a

natural language. | e -f-“?l"idfdwdf". e tbe AL S, LSS
All of these (7 D Problem - Algorithm (Z g B Flowchart bwlg);

symbol represents the starting point of an

algorithm. L e _‘gaf /;lb';(ﬁélizléfz /)Tlu’( el
Stop b D Set &x Input <o B Start &t

symbol is used to get input fromauser. | e -‘GG”JW"MAL&%U"“—JJ&JJ =

Output sl D Set &r Input <o B Start 2.

It is used to update the value of existing data. -‘Lb'l.’.l.f( JL";".& LS Sxed L«(D/f".‘ L{
Output o247 D If else U103 Set & B Input <o
symbol is used to check the condition. = | e -‘Lt'la,l;réd:élnf B u’( Je g
Goto 55 D If else U103 C Set & B Input <o A

. . LL/(F‘J&Q/»L&.{ILrl/’:/,‘fd:/‘fdbplgulk
symbol is used to transfer control to a certain step
in program. -‘ét'l.’.‘.f'/ ..L

T

Output 2,24 D Goto 3¢ C If else U131 B Set &r A

How many algorithms can there be to solve a problem? ?wéﬂ fz A z.&éi—/ S vy

More than one < £
None ¢4 D j Two » B One (i A
After solving a problem, we need to e bl ST L S S e
All of these (17, D Output w;ei7 Test & B Process U% 714 A

Find mistakes made while solving any problem using

-q!&lad/(}‘” cutf. ..... UWGULMUD})LJ L,L’»‘o‘f u’(

None of these J/Uﬁu!
u.'?} Algorithm (E, z,ﬁi Flowchart bwlg}; Testing Lt A

Types of test data is: -t Sesad
Five ég D Four 4 Three & B Two 2

solution is tested on extreme values in test data. | = eeeees -%tl!.‘f( _‘»:.““i s 'é(f"( J’ LIS
All of these Absent data Wrong data formats Boundary test data

(Ve D i bopse B ROERY T

After solving a problem, we need to test whether the

solution is: L J’f‘aou/"(fayu’lfﬁé'gfd’)?
efficient >»/ Sy ¢ D | both A&BAB yss» incorrect «s/ 4k B correct 5k/ = A
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Testing helps in improving a: !‘LL}: a il b B
solving S By D checking /_fcj.. solution ¥ f B problem Eg A

Suppose a statement says nl, n2, n3 etc. Here n

stands for: ey enylg-sZnfml, n2, n3 c‘-ﬂ h'{’%'/ S

none u.‘?’ é/ D noun st name B number /

+ b
Space shuttle challenger STS-51L crashed in: =Jﬂ°PSTS'51Lﬁ&: S

J~1886 D <1996 U~1986 B 1976

Space shuttle challenger destroyed only after ; e an s
liftoff: LS. S Ly RS

73 seconds 73 i D 3 hours 3 & 7 minutes 7 & B 3 minutes 3 &

One of the following is a type of test data: / ﬂéf:' JlsesLieutditn
invalid data valid test data alphabetic data numeric data

sk D St s 5t B B LiS 2y A

One of the following is NOT a type of test data: +u5’ fj Stsesd e it

absent data valid test data invalid test data numeric data

i Lap e D it e it el B LS 2y A

means to test if the required solution is there. Y < beony S e LT,J’ %'-*u’” £!
Flowchart .L/lg)g D Validation ﬁ&; Algorithm (E, g B | Verification gffg S | A

? =ty I RS
means to confirm that the solution is for the JJ’I’KJ}‘L“A L&Y J’I‘LL/QMJ Wl pe

problem that needed to be solved -(f Y
None of these )
u.‘.f;&/uﬁu' D Both of these Uss Verification c%:)(“)d/“; B Validation u.’a,é&} A
means to confirm whether the solution is correct . .

or not. -ﬂfg&uud’ﬁ/ﬁgt’nbfdﬂJa{.gﬂ;l/c
All of these (l/“,: D Flowchart .L/lg)r’ Verification ﬁd/“; B Validation ﬁ&: A

error, the solution is working but not giving

requiredresults. | e -t"‘":JGJUs? ARy ‘Lt'ﬂk/tﬂ (Z /J’én?’t; Uui J ()

. z b. .
Runtime error .4/#ty, | D | Syntax error /4lu’¢/ Logical error //“IJ%U B | Random error .zipk | A

is a technique used to test algorithms. | e -‘LJMJW" 1L L A v uﬂll..gf
None of these

SISt D Trace table J’:ui’} Process "5 B Flowchart .L/lg)f’ A
Displays each column in the trace table. -‘Gt'/r ﬁw# €rm Jé Ss
Mistakes of data
All of these (U’, D uﬁkd/L"gﬁ Values of data M:'d/&f Names of data (L’l{li’;)" A

Displays each row in the trace table. -‘Ld/ﬁlgleﬁ BV
Mistakes of data

All of these (L;’,: D fﬁJl‘aﬁ’ Values of data \:&EJ&’,; B | Names of data (Wl‘}j A

To find the root cause of failure of an algorithm is

called: :9?%#@@(/Vé’£’¢lgmﬁ£f u”'l..{l
testing (4 D identification &+ validation ¢% 4bs B | verification gf”pu’/“: A
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We can identify logical errors using:

B S 5eE 8 SR nd S e

r’.‘

all of these 17 D trace table J’:@/"

algorithm (E uﬁl

B

flowchart .wkg}ﬁ

If we want to test (ensure) that the algorithm can
gracefully handle unexpected data inputs, we enter:

T U S ly e . .v,ulw(;{ R Bz (L DSt f"/l

(s IR

numeric data L‘aﬁJﬁ‘;j

D | absent data Gi{srs

invalid data (3=~

B

valid data &=

A

Number "17" is equal to in binary system.

:‘gt'n/,l/,é

174064

10100 (D | 10001 lc

10110

Hexadecimal system has total numbers.

10000

15 D | 1 | c

16

The system for representaiton of numeric data is
known as:

_‘gb'bbf;((lhlé d‘:%’l»’J/l?ulM

D | both A&BAB Uss

real system (Lbﬁd??

number system

i

numeral system

The base of Hexadecimal number system is:

(lbj Sax A

‘LG!"JL/JH‘//J{/"'}ﬂ}

2 D | 8

16

10 A

Hexadecimal "A " is equal to decimal number:

e AT L

20 D | 19

11

10 A

Hexadecimal "A " is equal to decimal number:

md/lﬁfn,BJ‘f“jlf?

13 D | 12

11

10 A

Hexadecimal "C" is equal to decimal number:

:‘aj,l/,d:

245251 ,CJ‘:’*M?.

16 D | 1

B

10 A

Hexadecimal "D" is equal to decimal number:

:‘L/,l/,ﬁ

mu’Jlﬁﬂ,DWﬂf‘

13 D | 12

B

10 A

Hexadecimal "E" is equal to decimal number:

:‘L/,l/,é

2. 5.351.E Wilfl

14 14 D | 1212

B

10 10 A

Hexadecimal "F" is equal to decimal number:

:‘gj,l/,d:

A F Sk,

17 D | 16

B

14 A

In the decimal number system, the number of digits is:

sl uel o rlﬁ Gru 251

11 D | 2 | c

B

10 A

In mathematics, decimal number system is also known
as:

-t

SPBSA LA S

Persian number Roman number

system (lk'ﬁu’uidzﬁ D system rUz’Ju’;ﬁcfu

Hindi number system

(BSsu 4 B

Arabic number

system (5 Sl f A

The decimal value of 23 is:

:‘L.;;fd:ﬁ;gf 23

8 D | 6 | c

B

2 A

All the numbers in binary number system consist of
only:

_wLnJ“"» 4

Ny /(l?‘ﬂ(lb‘}dmél'?

8 digits 8 Ur D 2 digits 2 Ursx

16 digits 16 s+ B

10 digits 10 Ur»: | A

Digital computers use number system to store data:

(LI And LL S 2sSest ok S5

binary number system ‘ D ‘ roman number ‘ C

octal number sysem ‘ B ‘

A

decimal number
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’ ’ system (b’/ / O]

FASF

("//JJ/T ‘ ’ system(b"//.'}d’f?)"f ’

20 is equal to:

e s S 3EJ 20

1000000 (D | 10001000 lc

100100 | B | 1000001 A

The system under which the numerical system is
expressed is called:

i e bned L8 ASIKPE S

All of these (7 D | Binary system (Uz)él:

Decimal system

Number system (b"// B FBgL A

What numerical system do we use in our daily life?

sl S Jes " e ui'f Yy STilg

None of these quﬁu!
4 D

Binary system (Uz)él:

Decimal system

”Ué]d/&?i A

Number system (b’/ /

The base of decimal system is:

G S

16 D | 10

0,1 A

The base of binary system is:

_‘48)':‘)2’ ufrlﬁd;ﬁéb?

16 D |

0,1 A

Binary numeric system have numbers:

e (Uz?o’uiél':

0-16 D | 45215

0-9 0,1 A

The binary value of the letter A is:

B SASS

1001001 D | 11001100

10000001 1000001 ‘ A

The decimal value of the letter A is:

_‘au:" gz d/ A7

65 65 D | 50 50

46 46 35 35 A

The value of A in hexadecimal system is:

_%/ﬁJAJﬁJMijZ

15 D | 1

B 0. A

The decimal number system uses ten digits from:

=wfﬁ‘at'fdbp|~:«l.wu’)rlﬁd;ﬁdjl$‘l

0-10 D | 0-1

0-9 B 0-F0 A

For Hexadecimal number (A)16 , binary value is:

e dJE L LADI6 AUTHE

1101 D | 1100 | c

1011 B 101 A

To change one number into equivalent of other number
systemis known as:

IS Lk fepod et Agif S

translation Jlz” D conversion Jy\*

equivalency 4/« B change L};i A

For decimal number 18, binary value is:

-‘ch{’: le‘fu{ 18644251

1111000 D | 10010 | c

10001 | B| 1110 A

For decimal number 27, binary number is:

-‘Lcw’: éb’«'d/ 27 w5281

10101 (D | 11011 | ¢

11011 B 110110 [A

Decimal number (13)10 is equal to:

_‘a/,l/,é ;ﬁél’:fl&xdzl:"«‘l

1111 D | 1110 | c

111 B 1100 [A

Which binary number is equivalent ot decimal number

10:

?‘L/.l/,élo)ﬁdjlfil}jébfu‘v)f

1000 D | 1100 ¢

| B | 1001 A

Binary number (1000): is equal to decimal number:

_+4l4£;ﬁd/&f| (1000)2/1361;?

8 D

B 5 A
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Binary multiplication 1 x 0 = ?

A+0= ?:g/}(jbf

D | 10 | c

B ! A

The decimal number 18 is equal to hexadecimal
number:

=+Ax/......;xg}‘ﬂ'ﬁlf:‘ls:xd/l:‘il

1 D | 1 c

B A

The decimal number 27 is equal to hexadecimal
number:

3‘&/.'/./'/......:ﬁ%‘ﬁlf?&%xd/l:‘il

1 D | 1C G

| B | 1A A

The decimal number (13)10 is equal to hexadecimal
number:

P VYN s 5 I

D D | C c

Al A

The hexadecimal number F is equal to decimal number:

Sy RI 2 Y, J‘:""ﬁlf‘?

16 D | 1 G

13 A

The hexadecimal number 1F is equal to decimal
number:

;ﬁd/Wi:Fl;ﬁ%’ﬁiﬁ

31 D | 25

1 A

The number (1A);6 is euqal to decimal number:

_‘gj,u,éuidjlﬁﬂ (1A)1604

2 D | 1

For (2)16, binary value is:

1010 D | 10

1110

For (3)16 binary value is:

1010 D | 10

1110

Binary value for hexadecimal number 5 is:

A

e dlEL L5004k

101 D | 10

1110 1

The hexadecimal number 7 is equal to binary number:

A
adeadek

-‘L/J/,L

101 D | 10 | c

111 | B | 11 A

To convert a decimal number into binary number, we
divide the number by

16 0, | c

10 | B | 2 A

The number is the divided obtained in the exchange of
systems is called:

G VeI L

None l D l Both ‘ C

Quotient ‘ B ‘ Remainder ‘ A

(69610)10 in hexadecimal is:

(69610)10 £tk

(6FAB);, D | (L0FEA)1 B

(6FEA)1 IB]  (oFaB)y, | A

(C921)10 in binary is:

(€921)10 _c=23ES

11001001 D | 11000001 | c

10001101 | B | 11011001 A

Temporary memory is volatile and permanent memory

<L J’V e St u‘ yy Jfl EUss

Memory (s

Non-volatile ¢t

Semi-volatile J/ULJMJ: JIE’UM A

RAM is an example of:

el

semi memory S 5~

indirect memory ¢/

non-volatile memory

Sor? S bumut

Volatile memory

e JIB’U}}

A

Page 11
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d/": d’/..(//lj

The best example of data is:

e AU

ABC all ABC ¢

D

images sl

movies s

digits J v A

Binary numbers means:

—de 6A84

none of these

NPy

D

0-9

0-20

0-1 A

Keyboard characters has an

associated code in:

g b LI 37 s 2y g3

binary %y Al

D

octal U:Ji(ii

C

Hexadecimal

Sk

decimal (=@ A

Codes associated with keyboard characters are known

as:

e b P e by

Key codes 39 d/

Vi
Hexa codes Jﬂ///gi

ASCII codes ASCII
Ay

Binary codes 1‘5:’/6/"/@ A

ASCII stands for:

‘LJ ASCII

American
Service Codes for
Information

D

American Standing
Codes for
Information
Interchange

American Standard
Codes for Information
Interchange

B

American Styles
Codes for
Information
Interchange

Any computer hardware tha

called:

t is used to save data is

e bl e bl U d L4 S 02 dh ol S

A
s

compact device

g

D

storage device

Jl{’f(y/}:’

output device

U Ihegeal

B

input device

S

Storage devices can store or hold information:

‘Loﬁ //JJ*" J( =l uj 1950

both A & B AB Us»

D

quickly 4/) 89

permanently /,:uh):’:/

temporarily . A

Storage devices may be:

-‘LG‘CM/I;"; 0

interim d/ ) Veid

D

both A & B

external f ﬁg

internal J £

An external storage device is a

device.

:+8x‘f Lgﬁb»"(};

start and play
%kl:«/lﬁ

D

pick and play

plug and play

take and play
g

The best example of internal storage device is:

cJeg S S p

RAM

D

Hard Disk 354

USB

CD

The best example of external storage device is:

e Jeg St A

USB {1y

D

CPU 3¢

ROM ru

RAM £,

The types of memory is:

D

The example of volatile memory is:

_‘GJO'J S J/?!J»

All of these (U’,

D

CD giv

Hard Disk 354

RAM (£

In which memory is the

data temporarily stored?

?‘LVKBFU;JUQ)‘J:U/K

None of these

DAV

D

Both of these
u}jiﬁ,:/

Non-volatile memory

du*.’.'gj/lﬁ’ﬂuut

Volatile memory

S J/lﬁ’ﬂu

Page 12
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Data is stored in memory cards.

_‘Lt;ug,if 310937 (17124

Cant saved L“nu.‘j,lsﬁf

D | Permanently éé,}‘:‘l

For one month

Temporary Sl B é&,y/..{'

Digital computer saved data in the form of

_‘gt’/@)‘fgﬂyd/ ..... 1(125/'{%{ ’

None of these

A2 D

Binary J V"

Hexadecimal J‘J)“ﬁi'/é B Decimal g/2#1

How many bytes will it take to save the name
"Pakistan" in computer memory?

“Pakistan” ‘.‘J e u"’g Zgj_ LT Jeune /‘,g_-.,.j rW

64 D | 3 | c

1 | B| 8 A

Any physical device capable of storing data is called:

e bl enlh oz 2to S S5 iz TGl

RAM £, D memory (.5

device (135 hardware s/

A

Volatile means:

B
§_u" (Jf CUss

permanent S

durable |

D

unstable /l,ifg/f A

stable /147,

Volatile memory is also known as:

:‘Lb'lglfgg,fduﬂ'dflfﬂu

sensitive memory

St

costly memory

el

primary memory

Lj/!‘.’.’(jlﬁ:l

permanent memory

Ge

1 petabyte is equal to

_‘at'yz/.l/.di

c

D]

(1024)7 bytes (1024)5 bytes

(1024)6 bytes | B|  (1024)4 bytes

One bit contains bytes:

N A Y

1024 D | | c

B A

One kilo byte contains bytes:

sl L eAE

3062 D | 2048 | c

1024 | B | 8 A

The least amount of space is required to store any type

of information in a computer.

e bk Bl L Lo Sttt etd PSS

None of these é/ufu'

o D | 1024 bytes 1024 o~

8 bytes 8 Ji'/L B One byte 2A L A

How many bits are in one byte:

?wanu"’éy Akl

8 D I

B ! A

A bit can represent only:

e IS Pl

4 values 4 Juyﬁ D 3 values 3 Ju»ﬁ

1 value 1 d//ﬁ 0 value 0 Jzﬁ A

Bit stands for:

‘LL}/JJ?,V L

Basic digit »55Cx D Base digit «s50%F

Byte digit «2524 Binary digit <5561 | A

The smallest unit of memory:

:‘L..‘jzlf)‘,? Lgy‘(d}}‘:

number / D bit &

word 44

file S A

KB stands for:

killer byte =A% killer bit 2.

kilo byte 24 kilo bit A

MB stands for:

MB+J§3 :

Magnetic byte _,G:,? Mega base U*€-

Mega bit <€ Mega byte <A1€- A

Page 13
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GB stands for:

GB ‘a_.uf

Giga byte <kf

Gama byte eAl

Giga byte ..:/%f

Good byte &@Jf A

TB stands for:

TB c‘-J

test byte A=

terabase =AU 4

terabit & 2

terabyte 2AI 2 A

One kilobyte is equal to:

e KBl

1024 bytes

D | 1024 KB

1024 bits

1024 MB A

One MB is equal to:

:c‘_/,l/,MBu{l

1024 MB

D | 1024 KB

1024 bits

1024 bytes ‘ A

One Gigabyte is equal to:

e 4GB

1026 kb

D | 1024 kb

1024 GB

1024 MB A

One TB is equal to:

e A/ TBl

1026 KB

D | 1024 KB

1024 GB

1024 MB A

One MB is equal to:

i s, MBL

10245 bytes

D] 10244 bytes

10243 bytes

10242 bytes | A

One Gigabyte is equal to:

e 42GB

10245 bytes

D | 10244 bytes

10243 bytes

10242 bytes | A

One TB is equal to:

e A/ TBl

10245 bytes

D] 10244 bytes

10243 bytes

10242 bytes | A

One Petabyte is equal to:

:‘L/,l/,PB..{i

10245 bytes

D] 10244 bytes

10243 bytes

B

10242 bytes | A

Expression (A+B).(A+() is equal to

-‘Lan/,l/,é

(A+B).(A+C) e 25

A+(B+C)

D | A.(B.C)

A.B+A.C

B

A+(B.C) A

The order of application of two separate terms is not

important in

Ot S P 28 KNS 1o e 96

Identity law
u;l’i&l}d‘?uldﬂ

Distributive law

u’”v Ly

Commutative law

Dalysl

Associative law

B rju“u)b"

" Is it cold outside" is

None od these u.f/(f{é/

Both U

Moral propositions

iy

Boolean proposition

FS 4

Preposition indicates the value:

_‘43/ /zw:(/ﬁd?']gd/,

None of these

WA V-H]

D Both uss,

FALSE st

TRUE «=. A

AND operator can be de

noted by:

< bl 6 % AND

None

D

A

OR operator can be denoted by:

e bl 76 2 IOR

None

D

B - A

used to test the preposition.

bl Ui L2l igd4

None of these

D Calculator ﬁ:@/

Simple table Jf‘fbul/

B | Truth table inm’:/‘ A
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WA V-H]

By negating a negative preposition, we get a
preposition:

S LL@&@INOT{‘ﬁJ{d{‘ & u’(

None of these

Uj;é’(u:u’ D Both u]»,

Positive =3 Negative & A

B

Who developed Bolen Algebra?

:E’)/J)L::‘Aéldgi

Charles Baggage

Dennis Ritchie ui,/u":‘ﬁ D &jjlg

Von Newmann

R A

George Boole
Sl

Which one of the following sentence is a proposition:

:c‘-w"tj‘;’df,ﬂvuf :_u:J,,}Z/J;

I play Chess
Ul g

D Sit down sk 2

Close the door £zl

How are U? ?ujdjf!’ S

Ture and False are called:

:c‘-t'lgbff False »/Tr

Boolean table J‘:d!

Logical values Lv“li:dé?v D

Boolean Laws ﬁi
Bl

Boolean values u’gi

u:/ﬁ

AND, OR, NOT are known as:

AND, OR, NOT < bbl/5:

logical operators &1 conditional operators

J/‘:/,::ILJ/:"

J/b../,:;!

D

mathematical numerical operators

Sy A

operators J x> B

NOT operator of Boolean Algebra is denoted by:

e bl 6 2 INOT L A1y

D] :

B i A

In Boolean algebra, P and Q is written as:

e bLWISAND QP2 Aigty

P Q D] P.Q

[B]  p+o A

In Boolean algebra, P ORQ is written as:

e tLWIYOR Q Pt A1y

P Q D] P.Q

P-Q B P+Q A

Total number of logical operators are:

-4 Ny /*./,,U%u

2 D | 4

3 | B| 1 A

According to this law there is no change in results if a
grouping of expressions is changed:

I e braa I RS LR AL NIt A Lds
i 3 Al

Commutative law

Dorgsb

Distributive law

G D

Associated law Identity law

Sl B 4P 1 odedng” A

When some logical operator is applied to the Boolean

proposition, we get:

l .lff U/,:wf"')gdfj»i//‘/guﬁ? Uf/ -

Logical Expression Boolean Notation

ST D LI C

Boolean law

WIGE

Boolean Expression

Ft

B

The most well-known example of network of networks
is:

".fud;jﬁjfudfj" ‘Ld@u!f’ H

Telephone Network
D Tzl

Computers Network

J/;.a;Jr:(

Local Area Network

J)%E/J‘){}J

Internet &2 %I

B

In a computer network, devices are connected throug

communication:

(Bt 2 5L el e S o

client &£

server s/

D

address U=/4l B channel J% A

Page 15
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E-mail stands for:

Electronic message Electronic medium Electronic mail uf’/b'g I Electrical mail
T o6 9 D (Eier s B S B S KA

Caeser used this method of for sending messages to hi . .
soldiers and generals. LUy HK.... éﬁéf atl.gf U)kiulu;;?i'%,lL ;

Client server over use

Patent &% D Oy 4 Confidentiality §/2J, | B | Encryption J.6.%

The purpose of establishing a computer network is: :C‘-W’ﬂ“?’ ¥/ (' 5’-—(1’-‘4."/‘2.‘{
exchange of files admission in school / sharing resources surfing web sites

s’ D | college &l:uﬁég/dp J/“}"IKJ/W B BN P A

The computer that is accessing that storage space is

called: 2%#’%%?%// S la.g.i L&+ S ﬁ/ﬁﬂ{
DropBox L/gtm" D | workstation u’fb s C Server s~ B LAN wv A

How many basic components of communication system

are? ‘-'wgrlﬂdj.l.}.ér“/ u.‘.’-:é ;!
6 D | | c | B| 1 A
A computer that get services from a server is known as: :‘wa(‘,ét'/( i L’d? L' }:413/ ﬁ/".‘g %7

ABC all 24 D server s~ C guest ol /e B host e

When we access a website, we get content on our

screen served by a: e bl (:'/ J. 30@2.:’"" "{/,L[/c G A &V%’J’( (2

internet &g # D website &Aoo C web client e£16 ;s B web server s s

A client is a process that accesses services provided by

a: :9@.‘/)/.6?‘&‘)/34&!4&1}(

server &3~ D website « Al host 2 n B internet < &7~ A

In our daily life, we use computers to: Sy, /"..‘-.-j Uftf»c)’/ I

watch online videos send / receive emails browse the internet

ABC all ABC 12 L LT A Ll S | B Ll osp A

A computer network is a of computer systems. L K'-’UTE{J"/';/ / ’..‘{ J ’JJu(/’%/‘A!{
All of these (7 D Device ujﬂgﬁ . B System (L/ A

Networks are connected together to make a large lb...... '7&'/:‘“..(’/ J Uﬁtﬂ‘nfc’dfi
None of these J/uﬁu!
u.’."" D Network s 2 Group .1;/? A

The example of hardware sharing is: :%J\'?J ..f}.‘.: A
All of these ¢l D Data i} ile S Printer #/ A

The example of ATM machine is: 39()6’0? f‘:’d

Internet sharing <~/ Application sharing Hardware sharing

jf": D jf;gf"j/(}f” j//'.‘.iﬁ}é’/l[ B | File sharing bffi:gfb

A
The computer provides space for storing data, called: 5‘4‘7115'(“&‘7/( (7’/ L L sy ’..‘-.!
A

None of these é)/ufu! D Both yss Server s~ B Cleint <15
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4
The example of server is: 1+J¢*J/3 Y
All of these (7 Dropbox J@.g/s Network JSoses Computer /”};g[ A

A server is a system that . services: e

None of these é/ui'u!
uff Both U#s Provinces Gets ¥ A

The client is: :‘ét'!h‘):lf
None of these

VAT Both y#s, Software zs2il- Hardware =554

The types of connection i

Four se D Three o C Two 2

The direct link between the two devices is an example
of: e JoBLE B n L ety
Multi point Point to point
None of these Both of these connection connection

VAL D Uing u‘ﬁuﬁ!z& ‘fﬁ_»,;;ng A
The example of multi point connection is: 3%@’3‘(! ‘fﬁ &L ’{(:‘L

b

All of these (l}’, D Wifi GGJU Remote &%, TV §s-¢ A

The types of topology is: - Vi, oy
Four /¢ D Three of Two » B One (i A
VIt ne R sEg S S LUE fenTrB G

In Star topology, all devices are connected to a
. . . . . . )/ 4 | ,l ﬂ( ¥
common point via a cable, this common point is called: '%V?H( LS

Cable Jf/ D Server us C Button uﬁ' B Hub A

topology connects all devices with each other

through a direct link. DAL 2L Ly »u{'-"/’n'/.fl’zjrauf&)y:

Mesh topology J}Jgu"’f D | Ring topology Lﬁ)ng Star topology sy | B | Bus topology Gsr

A
In which topology data exchange is faster? febne 7 .J:t;wut&)y‘/
Mesh topology J;{(}Jg D | Ring topology J)yp@ Star topology Ssy .t B | Bus topology J;{t}’u) A

Two devices can communicate with each other when

& ; - o
they are connected through some: Ltz Lﬂé/ U":é X.{ AN (1S T 0] £%

network « sz D connection ;gfﬁ point &1y B link @ A

Possible type of connections are: i L3104, U"ﬂ

point to point &£1¢

both A & B uig)r D | net point u:,Cfb:’z & multipoint Lfﬁa’ng uﬁJ’ B ﬂ&igi A
A link between a sender and a multiple receivers is
termed as: :‘Lt'lgl/,(l( ..@uy;;é;/fja.g/.uuﬁ.mg

several point multipoint point to point
connection net point connection connection connection

u—“ﬁﬂy ‘ff{_;ug_,j JﬁJugJ ‘fﬁ.ﬁ,&ugi.uﬁg
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A geometric representation of the relationship among B
the interconnected devices or computers is knows as: i W/de'/;zédﬂg L/ o bl
Nephrology Entomology Topology Terminology

G b D Gorlal G S y Goa o A

Which one of the following is a type of topology: LP&{’J Sy o e s
mesh topology J'f
ABCall ABC? | p | bus topology G#¢ws | (| ring topology G#¢f. | B G A
Wl A Lo S 7 L AP S e S G

A topology that connects the all devices of the network
through a single common cable is called:

mesh topology J;’y’u’r D | ring topology J.)y’f/ C | bus topology S4¢U” | B | star topology Ssit
B2znz S AP _b,ﬁn; sei1y {32! A S 2N

A topology that connects all devices / computers using A
point to point connection is known as: ‘Ldﬂz{‘q-

mesh topology J.si Dl D | ring topology J.s¢ £ bus topology S.s¢ J | B | star topology Ssgt- | A

A topology that can send data either clockwise or .
anticlockwise is knows as: ‘Ldlkﬂ,aww-‘;’ufe/ L( tf( i (-9 (5!’9&'

single-directional ring multidirectional ring unidirectional ring bidirectional ring
topology f/ﬂ//!ﬁ’f’ topology ...f/d'ﬁ(/’lﬁub’L topology .f/dﬁ//’iﬁ&g topology .f/dﬁ//’l;ég
Sy D S B S

A
Communications protocols ¢ 4‘;

Error detection f’u Authentication =3(2

Above all (i D Correction (/G 6/ (}L’” B £/ Jud g

The receiver must be capable of accepting the -{,-lgtndfﬁéé-/ Jio..... A s
Information =\ D Address (=4 Message (b B Protocol J:’/;}/,:

A system that is used to transfer data from one point

other is called: :‘Lt'lng/r‘at'ndlﬁ"l“LLL/ Jh .?u /»;.g.{lf ﬁ("'/
data transmission (3 communication message processing (f:
u"f':/u" D system Jfg,{/ ()”/ B | datasystem fb'/l.‘gﬁ'

Exchange of data between sending and receiving I3z 2 S fﬁfv Lf( LTl S rosm 22 5

devices through some communication medium is
termed as: :‘at'lkv(

. . . 5 b
data communication data processing L;J

gf:':g;..fl‘af D | datasending Fixt} data storing Fst.3 s,

A
The messages or information are in the form of: e dn ey Gl Ef:
text / numbers &£/

ABC all ABC (¢ D | audio/video #57 / 34s images / pics 7= / £l i A

5 a L
The components of communication system is: Wz ’L(‘/ U"'& )!
Five ég D Four e Three uf Two 2

Sender is called: :‘Lb'wf,,&(

None of these &/uﬁu! Both of these Uss - Source J.» Transmitter j{‘)i/‘
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The example of reciever is:

‘QJ\'}'J»H/ J:‘:r 5

All of these (7 D

Internet < £

C

Cable ¥

B Printer # 4

A

In a data communication system, a message is sent in
the form of

ot LS. St P

None of these é/ui'u!
V4 D

Information =l

Internet <2 4

Packet 2f,

How many parts of message?

m5 oo
?‘gb'm}/ LU EL

Four se D Three o

Two »

One

Control information of message is called:

e b K 61U

None of these é/ui'u!

o7 D | Both of these Uss.

Header .4

B Play load 5}’,.4

A

is a formal agreement between two parties is

:‘Lt'lly(o,qbﬂd‘ /..{l uy»&uﬂ»

Protocol J/ )"’:/7 D Information u“/ S

Header .4z

B Message (i

A

The example of transmission medium is:

:‘gdl‘fﬂ! ﬂfyu”f ¥

Fibre optical cable

T 7

Intenet 2 Fi D

Printer #

B Message (i

How many layers in TCP/IP protocol?

TCP/IP St i AT Uiy

Six £ D Five ég

C

Four Je

B Two »

protocol is used for the purpose of transferring files

from one computer to another:

:‘at’xdb‘plgﬂL/y.gd/»L.gu.{l;(}G

WWW D | SMTP |

C

HTTP

| B | FTP

A

We can use transfer webpages between a client and a
web server are:

:u}"L/ dlﬂ’l“&d:&a J Z.;.,q,;uyud:u YL ¥

WWW D | SMTP |

C

HTTP

| B | FTP TP

A

Fixed IP address is called:

et R ddTAE

Fixed €

All of these (7 D

Dynamic L

B Static &

A

binary bits.

IPv4 (R eunnne - B FF

32

29

Dynamic host
configuration
protocol Dynamic
host configuration

None of these uﬁ”’f&/ D

protocol

Dynamic host
computer protocol
Dynamic host
computer protocol

Data hosting
computer protocol
Data hosting
computer protocol

A

It is a unique identifier:

3‘LU$J/ w32 2 L

D | DHC

Server

Router

IP

A

The standars of IP addressing is:

|1 IV BB IPAL

Four 4 D Three &

One i

A
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172.16.54.1 is an example of:

172.16.54.1 < J¢:

1Pv10 D | IPv8 | c

IPv6

B

| 1Pv4

A

The IPv4 is divided into how many groups?

Py St tuse L

Eight #7 D Six # C

Four Je

B

Two

The maximum bits are required for every group of IPv4
is:

IPvi ¢

-

Ao d/ u"‘ u&]a.u&);( _’A/f Ji

Eight #7 D Six #

Four Je

B

Two

How many bits in IPv6?

IPv6 ?‘gb'nﬁ /,u"’ &

256 D | 128

64

B

| 32 |

A

How many groups in IPv6?

IPv6 Sl s s S5

Eight #7 D Six £

Four se

B

Two 2

A

Routing is process of taking data from one device and
sending it to another device in different

bl

Jf?)/LTL/»LL&ﬁLLTugu‘.‘.’J?‘LJIl{!..fz'u

-
3

Area |/ D Path 4|

Network Josey

Channel J%

A

The example of networking device is:

:‘Lda‘b(ujlzjug(/} .

5.8

Router 74,

All of these (7 D

Browser .3l

B

Internet < %1

is usually placed at the
networks.

meeting point of two

<t b‘v(& Iy K&;Uv Lu"' ,lg’»/,/)r

Cable J'!

D

All of these ¢7

Connection u_“/Cr

B

Router /4

We get the internet service from

QLLEJU.’-" JJ/Ju‘e:'/""

SMPT D | lc

ISP

B

| WWW

A

Which of the following doesn't includes the types of
software piracy?

fe JEU IS A = Ui 5

Client server overuse

Online piracy

&/:/EJUUT D J;f/u’u/.btflf

Liability $ss..3

B

Soft lifting
NP

A

Which of the following is not a cybercrime?

?‘gu.??'/"l//ﬂ/lru;(a,gﬂdjbu

Decryption Identity theft
ks D $gdest

Phishing crime

I

B

Hacking e

A

Which of the following is not the characteristics of
phishing emails?

?‘Luﬁ;dfgfdfdlﬁfl/ufcuf‘jj@u

Similar domain of
actual website IT reminder

BN PNy D diostddT

Email account update

S Y119 4t

B

Official data breach

notification

IS St SL368 -

A

Which of the following is not characteristics of
phishing website?

~m
3

VAN YN 5T

Email account Actual link to web

updates b;l;’jf{l‘)fu’l content 7l sly s

U3 D N

C

Using of forms to
collect visitors &47 7

JL’-HK(/G% i/

B

Similar domain of

actual website J°I

CEBUTE A

A

Which of the following is not a characteristics of good
password?

e $PSEmu s ol e 5T

‘ D ‘ Contains uppercase ‘ C

Password is your

Doesn't contains

’ B ‘ Is eight characters ‘ A
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name only _;!’_5/‘5’/;(/@: letters LLJ:?/,:J;X(_Z username n;‘}"f”/?(l/g long ;)i)’&]p?f

s

is a serious attack on a computer system.

Sabotage U’/Kg—cf.; D Patient =i, Copyright JJUQK B | Trade secrets JU&/G

Illegal copies of a book, software, movie, painting etc

mean: 16‘-(311:'( J# &]5'/:; Jm’ s Boyefor ‘/:’"l—‘j‘/‘u,—crtfr
Security éuf:/ D Piracy &//L Secrecy /4}';:’ B Privacy st A

Illegal copying, distribution or usage of software is

termed as: 1c‘-t’lli/ JWUJI,‘;}T :l?//!?df‘j J sl
Software piracy <3l Ilegal piracy 356 #

Data piracy &/’5&5 D | Draft piracy &/’&Ja:r’ &//g/’:; B &/’& A
One of the following is NOT a types of piracy: 54‘-03‘; s VIS, dl’&h{"'-—U:JJZﬂ)
Online piracy Fraud and misuse
EAFIT D | Data piracy &.7L3 S5 o131 B | Soft lifting St | A
Borrowing and installing a copy of a software from a .
colleague is know as: :‘Lw'i'(t/ JW‘QKJJ Lol (il e S Lo ”UJ
Online piracy Hard disk loading Client-server

&/’.L.Jf g7 D Soft lifting NP J,")J;m B | overuse jimis 2L | A

Downloading illegal software from internet is called: :‘er/ﬂ ufiﬁ/’z:.‘ﬁl/&] l5'/-3‘: 7
Fraud and misuse Illegal soft lifting Online piracy Hard disk loading

146 131 D sl 396 EATIST B I3, A

The way that is used to protect an idea is called: :‘Lwt'( 3L fk:’ﬂf{
Prohibited idea 3wl | D Patent =24, Trade marks UJ//LZ,/" B Copyright Jﬁ‘/izél{ A

Some software companies sell software with a . . .
confidential text, called the: : S0/ 280 AL B rasil U&“;{ﬁh—"’i/»{
Key of that software

Description ok D JJﬁ;:)L/ Encryption §.6.% B Password 307 A
Jgdyuﬁjy/i:&)ls'/éd/ﬁ;dvﬂ‘C.;thlJJLf‘a..,JW

means making illegal and unauthorized copies of
the software without owner's permission.

Privacy &’5’4 D Piracy &;’.L. Browsing L1 B Right <A

Nadra keeps a huge data records of all the citizens of: ?%G’CVL”UWKU&# ( v
China L% D Pakistan Lul“/@ Australia LQ‘.}T B America Z:.{/!

NADRA is an abbreviation of:
National database National database National database
and registration National database and regulation and resource

authority and rules authority authority authority
d/@’f‘?/fk’wlﬁ},f < d;@lﬂuﬁalu:’l‘gf < d;t}!ﬂfﬁglwfl‘p‘ < (}/LE!J/%/)Q;!UZ’Q}‘ <
CCTYV stands for: CCTV ¢

Compact circuit Closed circuit Complete circuit Clear circuit

television television television television
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il o

uZ:Jf 'y Ve A1

ke el e A

The law which says that a product cannot be copied, is

called:

:c‘_b'llgv(réﬁlgst;JgJJJ&GI4Jrf§.mJﬁu]GU~l

Restriction law

UL D

Copyright law
U».L{IJL}:{

Trade law patent law

5

s,

Ui/ B

Most of the software products are copyright:

&

:uj&yzc .‘/l/(é(:alci‘” Jz,dv T

Secured 5’/:;? D Listed Si.41

Protected 5% B Bound

Which one of the following software is copyright
protected:

?c‘_k‘j‘f&;Z:u;ﬁ'dflj(é(ﬁjh‘}lrb/u:(a.gﬂdj@u

ABCall ABC ¢ | p MS Office L3J.S

MS windows ks 2 | B MS word s a1 A

The business secrets that are playing an important ro

for the success of a company are called:

Sty St A Qe S, #F

Trade sharing J/lf”
Trade tips ijfﬂ/? D S

Trade secrets Jl/&/l'i B | Trade lines 2.!/8/{;’

A

Over internet theft of money, theft of services, lift of
valuable data is termed as:

:‘Lt'llg'( d/-ﬁd/ L;)‘(j" L4 J uluw-d/gd/ ﬂ 242 P

Malicious use Jb-.#

All of these (7 o D Je

Internet misuse & 4

Je1566 B | Online fraud 5 /e | A

When some malicious user tries to get some
confidential information, it is called:

bl etee b S SEL S P ol iy il 5, 284 2

o
¢

Software lifting i

e D | Mal-function J1# sk

Misusing Je&14k Phishing & A

Open source software have no:

wz.nu:f /,ﬁ;..")lfd/}"u;;l

Selling rights u'z’/bdg D Safety rights ug‘/uéj‘/

Piracy rights u’b' /U&/’g Copy rights u’b’/udf A

The example of piracy is:

e JEUE AL

Software fs2il-

All of these (7 D

Poem ¢ £ B Book b.lc'/ A

Sometimes, some malicious user disguises himself as
our friend and tries to get some confidential
information. This is called:

aL)‘”,ﬁ,{dmL//zu;u»tguu:“_sjuLuLg?;uuﬁ.;s‘nJ‘*’
ML el IS ASES

All of these | Copy |

C

Piracy ‘ B ‘ Phishing

Patent is a way to protect an

‘a,.‘EJ}’..flVJWJ. ..... o’fw

None of these J/Uﬁu!
v D

C

Idea LT B Software Zs2il- A

Copyright law says that some idea or product cannot be

LU .. S BT SO Lods Larudy

All of these (7 D Sercret Jls

Patient =%,

Copy ¢¢ B A

Protecting data from malicious users is called:

e QU Sbdt S s Slse sigd il 4. 2

Data saving 4113 D Data hiding di}'gl‘aﬁ

C

Data security &3

Qs A

Data privacy /L3

We often give our personal information to a computer

itz sesd ol o 315 A1
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while:

Shopping online ¢/ Visiting a hospital Admission in school
All of these (7, | D Lt L e mL S L Bt

The foundation of all security system is formed on: 54‘-",' 5'/.,)!;?(! Yt éﬂ:? /
Ethical principles d"UH Security laws éu;?

Wl D Moral laws s/ C Wt B | Social laws 217 Gk
If we have some dare, it is our ethical responsibility to

keep it: :U-‘-{/ Llf‘cd/b,.»}JU;ldjln ,?‘g&h{JLGM/"l

2

All of these (7 D Secret . Secure 5 B Confidential o424

It is the responsibility of my bank not to share my

banking transaction with my: ey, ‘?U:Uﬁg'/;’/‘ué:ed 2 c‘-djl;.u'd/ K
Competitors U7 A4
Relatives /u}/b;ﬁ’/ D Employees /u:;u 't Family [J‘&J'

The computer data may be related to: :‘LCC” SedL...... &5/‘2.‘4{

Driving licenses —£+13
p

All of these (7 D | Arrest record L@u’ﬁf el B | Credits cards 3624/ | A
There are certain companies, called , that solely DSk L S d/ ué/lzd /r‘ah‘lgl.gf. ..... o U,l?;{ U,,J

exist to collect, aggregate, buy and sell comsumer
information. :w;ﬁ/% Lo Sesspons

None of these J/uﬁu!
ufi D NADRA 156 Data brokers ./3/t3 | B Hackers 14 A

Primarily, how many aspects do we want to keep our .
data safe? Stz pbdus Sse 10 LUSME Ao
Four /¢ D Three & Two » B One £ A

The information that is stored with web surfers is

called: ‘LJU?(“LJU& 238 L I} s Rt

Patient =4 D Information ¢ &1 Cookies /..f/ B Data &3 A

One of the following organization keeps our personal

record: :‘Lmﬁjgjl/ho/l;lugcufi 3G

BISE is an abbreviation of: BISE

Board of intermediate

All of these (7, | D School J¥ BISE NADRA A
<&

Board of IT school Board of institute and secondary Board of inter and

A e - . . e .
education JJ37575y and school education education #1373y second education 5.4
u:[ Sy D ﬂ FIE e N Ty ‘ﬁf SR S fr B Lﬁf A S0 2t 21 ST

When we do not want to share our data with

VoS s o 2 . o &
unintended persons, it is called: "Lt'l.’l/.(""uﬂz,‘-lgb/ S E L P S o i
Integrity 3. D | Confidentiality Sl Privacy di;g B Security (j/):..(/

Integrity means that we want to keep our data: Wt "‘nglf/ it A e

Correct « D Confidential S50 Secret s4%2 B Secure 5# A

Integrity means that we want to keep our data: Lﬂz,‘-lglf{/ AP g O
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Correct = D Confidential ¢/t C Secret s4*¢ B Secure ¥

Companies store some piece of information with the

web surferm it is called: 4‘-811:'( ﬁ‘c‘-a}’//ﬁf; £ Vé:..i/l.o.,«;,:at)"\f"‘ Ju
Testing s D | Mind reading lezu'"} Cookies K} B Storage Sonkls 23

Using cookies companies are able to gather: Qb f LE SV e S
Marketing data
Business date 5$426 | D | Personal data Lidis Computer data l;ﬁ/";;;{ B G B A

The process of encoding data in such a way that only .
authorized person, can read it, it is called: :é-t'u'f(‘w é"’,“—'f-”/ g LESSKBUANSES

Authorization u@"/fi/?i D Decryption gﬁ:‘/dﬁ Description u“’:'/éi’ B | Encryption Cﬁ:’/tﬂ' A

The encrypted data is called: , :‘GVM kiiig o

Encoded text fg;"ﬁi

Cipher data (341 D ’ Cipher text & & Secret text «-£.5 | A

Encoding of data is an example of : ‘LJ@‘..fﬂ/ UIJ %]
Encryption §.§.% D Copyright &71.J¢ C | Confidentially S0, | B Patent =24 A

A computer expert who can steal data while it moves, is

called: :‘Lt’lly(:‘al:‘:/ d/gJJl:ﬁ:L&ﬁ &ﬁéz,;w/‘;{
Hijacker /:/’JQ D Hacker & Stealer . B Compositor /"..uf/ A

Encryption helps us to save data from: 398/’316197051-/1‘!5 S l‘du’;/ ]}

Web surfers oz

Hackers « & D Users .74 C | Programmers /!/f 4 | B = A

The computer experts who alter data to commit fraud

are known as: et S LA Stz L'J,’/tlv/ba.‘-.-j

Hackers 7.5 D Encrypted /‘.?ﬁ! Surfers uf'/u B | Programmers /'/’i4 A

Encryption protects: ‘48/( r"' | /Le; dj?,ﬁ
All of these (U’, D | Personal data W;S(}U Sensitive data 51> Privacy 6§51 A

The Roman politician and military general was: :Qdﬂ t] /'LH'U'J;’L#K(U

Aristotle £ D Alexander /,'Z:;):G [ Caeser .z B Cipher A1 A

The secret code that is used to read encrypted data is

called: e b3 B L Loy e Vidye SK P
Cipher code 32 | D Cam code 3/ Key code »/f B| Passwordissl | A
Encryption is the proces . e Qo e ssd P e S LIS
None of these (/Utu!
4 D | Both of these U, Decoding 53465 | B| Encoding &5/ | A

Encoding means conversion of data to an unreadable

format which is called: uf ;’:&“Gt/ et f d’!él’&Z/!{ (SN A
Ciphertext &«?/"/V D Encrypt ._*/,:ﬁl Password 3/»{ B Decoding N3 A

is used to protect sensitive data, including .
personal information for individuals. ‘43/ A 8‘5&'/ legrkiylo:

Password x| D Patient &4 Protection from B Encryption §.% A
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hackers LFe s &

was a Roman politician and military general.

...... _GJﬁgﬂjﬂlul;u‘l,«d’uug

None of these quﬁu!

D Caesar /7 C

Vigenére /:i:f) B Cipher A1 A

Within caesar cipher substitution scheme, the plaintext

"PAKISTAN" would be encrypted into:

S S S6K P PAKISTAN e swlaf L34 3, o
:J ibx

Noneofthese | D|  NATSIKAP | C

QBLJTUBO  |B| OZJHRSZM | A

Vigenere cipher uses a
letters of plaintext.

for substituting the

B UK ... Ll L LS it o7 e 2 s

Table J* Method /£ %

Symbols 3 B Book 0"

Vigenere Cipher table consists of rows and

columns.

S,

-‘Ldy /,U’) 6...... /& Jf"': g% /:’fi

32,32 D | 26,26 | c

22,22 | B| 16,16 A

Messages encrypted with the Caeser cipher are very
to crack.

et Mg 2 e JE s

None of these

uféfufu' D Complex o475

Difficult £* B Easy gb1 A

Most common letter used in the English language.

e SIS Il A IS

S D | 0 | c

| B| A A

A good password should be at least characters

long:

£ bl o g

c

D]

16 16 1212

| B | 44 A

A crime in which computer network or devices are used

is called:

:‘Lb'lg,l/JWflJu.pj};gf A (Z ‘I‘/

Cyber crime (/’l/’//:’l/ D Web-crime (/’!/’;4:

Online-crime f/'l/'/ufuuf B Net-crime f'l/:;; A

Well-known type of cyber crime is:

:‘grDJrf'l//{VJ}z’y

Advance fee fraud

WA Sy

Hacking ‘.ﬁ:gi D

Identity Theft L;? (s

Transaction fraud

1pE B éz A

Illegally accessing someone else's computer is another
cyber crime which is called:

i.f‘ar)d?l//fl/ulugb/g}lloéﬁmffﬁrﬁz_/uu’ljféig/f
:9?111'( J

Exploiting JLJ*IﬂgL' D Hijacking ..Jf?&l, C

Hacking g B Fraud 3/ A

The law enforcement agency of Pakistan to fight cyber
crime is:

S ool s S35 K, //..J&L(' 1S4

Dolphin s D FIA 137

Anti corruption

G B NR3C A

used for authentication to enter a system:

‘Lt'lgk(dl?'p’/,/}béaﬂ éLL/JIbéV/J("/.{U(

Network s D Keyboard 5’/}16/

Web page & B

Password )5/};)’2

A

The word which is generated, read, remembered
and reproduced for human use is known as:

‘e bl e tbLU U130l sl bl Lo bl 2 5L

Key letter }.JJ D Alphabet oz

Password 35U B Key word L:J A
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A good password should contain:

:ngtm}’ﬁ‘ WL

Allof these iy | D |  Alphabet & o7

Symbols <l Numbers J 7 A

A good password should be difficult to:

g b S E

Type A F D Write taf

Read t»Z B Guess (€l 41 A

keys are used to read an encrypted messages.

e b U ... Lo s S B

All of these (7 D Encryption $6.%

Cryptographic v
e B

Password i+

A good password must contain at least how many
characters?

?%lg'nd?y 4J)f£|[ 4[5/;’};[«{! £

Eight #7 D Six #

Four s B Two s

is a cyber attack to make machine or network
resources unavailable for a user:

...... bt LI L tod FlsSise o 2 AL

‘Lt},}:

Piracy gﬂ/’g D Hacking £

Phishing o=

FIA is an abbreviation of:

DOS u1s A
FIA &

Federal internet Federal interior

agency J‘{!.@; FIJa4 D agency ﬁl YAt

Federal investigation
agency Lﬁ‘f @Y‘U//‘? Federal information
s B | agency SFI6IE | A

The fraudulent attempt by sending email to obtain
sensitive information is called:

e b P IS S S o SR U SE K

Censoring f - D Phishing &

Tracking Y B Hacking Sae A

Which one of the following messgae is an example of
phishing:

¢ ‘LJV?&-@UL‘J!{LU:JJ?/#

Low computer Update your system

memory software

N D| Uiy

Change your
password
immediately

SIS B

Open your email

S S

A crime in which computer network or devices are us

:‘at'lgl{a,l‘gt'lyy/ JWI:UTEJ;.&:‘/‘{J S (Ak

None of these J/Uﬁu!

uﬁ’ D Virus J /s

Cyber crime (f'l/'//:’t/ B Hacking £t

Hackers may use fake ...... to trap someone to give

passwords and account information.

DI . B LLL TS ohd St o

All of these (L;’,: D Accounts Jb"m

E-mails A" A

Passwords s B

This is a if the cardholder claims chargeback.

Y %’[ ..... Ll;‘Lb'/ L'ff g (..Q@Jlgjﬂnb(fl

Transactional fruad

.27V,

None of these

WAV D

Identity theft
$rglest: B Fruad ¥/ A

Illegallyaccessing someone else's computer is called:

..9?%/ J' la(jl//f/‘gj,{ LL/’JJ(/'/)I’&)W /:,’

All of these (7 D Piracy @/’L

Hacking —£¢ B Theft 4.2 A

is the fraudulent attempt by sending emails to
obtain sensitive information such as password and
credit card details:

Jlba’n./;'é&'diat#dbﬁa@&b?&&ﬁ;lﬁ/ﬂf
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Phishing e

o]

All of these (7

C

Software Zseil- ‘ B ’ Hacking £t

In computing, a is a cyber-attack to make a
machine or networkresource unavailable.

DA S 2 bl ... Lot e\ Lt Bt
i1

All of these (V",_., D Network ey

DOS yis Hacking £t

HTML is not a

HTML - 76

None of above uf.f’féf D Both yss»

Programming

Markup b?A._f/l. B ._;C‘l/f;/,:

Webpages can be created and modified by using

—e bt nZ SJE..... B e

All of above ‘ D ‘ Text edit

Notepad ‘ B ‘ Notepad ++ ‘ A

An HTML element usually consists of a

et ..y b o S HTML]

None of these I D I Start and End

End B Start A

element is a container for metadata (data
about data).

g CE St sl

<html> D | <title> |

C

<head> | B | <body> (A

To save the HTML page, you can use as file

extension,

A SR AL LS SEHTML

| D | Both htm, ‘

None of above

C

html | B | htm A

HTML document starts with

HTML &545(5 wuuee e bnls fe B

<hr> D | </html> |

C

<html> ‘ B ‘ <htm> ‘ A

HTML document primarily consists of

sections:

HTML St n* B b G asmdls

Four 4 D Three o

C

Two 2 B One i A

HTML is used to create:

el L LHTML

Web pages & D Data text St

C

Graphic file J/Gbiﬁ/ B Text file J/Gb"/g

By clicking on
another:

we can move from one webpage to

...... £w£|g/,6' e _/.,:u{lr? el

Image é! D Hypertext ;»g/:/l[

Hyperlinks M b B Markup 7@61.

A simple computer labguage that is used to creat web
pages is called:

‘Laﬂg}/:‘aalgu{dw’lééé_t:ﬁ%ﬁ L}?é)@vl/ug

Photoshop .11?;} D Excel J’gﬂ

Word /mﬁw B HTML A

What type of language is HTML?

HTMI 427"

Objective oriented

ﬂ/;lb"‘gf

Mark up ?AJL D

Programming

..,é‘i/f}/’ A

Scripting (/’l/(._,é"’

Which one of the following is a singular tag:

e Jo L BIF

<html> D | <br>

<Ii> <p> A

Head section ends with:

e b K L

</head> D | </body>

</html> </tittle> ‘ A

Body section ends with:

:‘gbx(C‘iIKf?d;‘y

</head> D | </body>

</html> <frittle> A

Which one of the following is a paired tang:

h.,,Gﬁ /..vl/U)/ a.uﬁut},ijf

<hr> D | <br>

<href> <p> ‘ A
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The properties associated with the tags are called:

!‘Lt’lglf( I :—yr‘& ..ar"' P

Attributes uj 76 A D Qualities yL#

Merits JiiZ) B | Characteristics =t | A

HTML documents consist of two sections:

HTML & x5 w0 i

Both aandb b'l/”J’

Top section Lf?_;b" D Us

Body section fgdﬁg B | Head section u:?/fﬂ A

To create a webpage, in MS windows we need:

:“:’/’/zdeLLué’%’LﬂfV.ﬁ{jﬁ’ 3l

Wordpad J/glui!(.fu D

Note pad 4 s

Text Edit 242-€ | B Text pad Zete

To create a webpage in Mac we need:

:c‘-:u’/z’uﬁﬂééd'—&e’gguﬁ’;‘/.ﬁ{j

Word pad J’gljib{u D

Note pad i

Text edit &ilet Text pad P

The two types of tags are:

B

eV S

Single/ multiple tangs

?:CMU%/”J{V

Single/double tags

D }?’JLMJ{V

Singular/ plural tags
}?J/J&ul)}é

Singular / paired tags

}?5;&/;1))?/ B

The tag consist of a tart an end tag and contents

tag,

between them is known as:

-
:‘L?M‘L?Mﬂ)’u‘:uy‘uul‘ab’ng}/ /,jjz;l‘_ﬁ:ul‘/ﬁ 17

Multiple tangs /?J“JL D | Double tangs H s

Singular tags Py B Paired tags )?5/’5:

The tag which do not have closing tags are known as:

(WLl BBl SR

Multiple tangs /?’Ju';L D Double tags /:CU’:” C

Singular tags £)E | B| Paired tags K7

Which oen of the following symbol is used as opening
tag:

‘LleJ JWI{,/)L.E.@:I&W;U:( e JSdsen

T D | <> c

</> | B | 0 A

Which one of the following symbol is used as closing
tag:

e QY1 b L BEoF ertbos o e Uik 500

() D | () c

</ | B < A

WWVW is an abbreviation of:

‘L_.u; WWWwW

Wide web world %1s World wide web A.s

D ._/“Jﬂ/l} C

/U/h,/;,}

World wide web s

Working work web

Vi
_'/,.Jf{{l) B %5,3/}_,@//5

A

means that a tag written uppercase is not different
from the one written in lowercase:

iy GASS I I LU U Y tag S e ek

None of these

S et D | Letter sensitive o+

Case sensitive

Tag sensitive :;h".'.'/v? B !}‘f{J{U;

Hyperlinks are used to navigate on the:

ot U LB

HTTP D WWW

Network s B Computer /”;j,{

To access a web page, we sent a request to the web
server through a/an:

_wgwl}/;;(/; 2 5L %LL/ S bJV/J{? -

Website eAl-zs Web browser Ljflis

D C

Web page & B HTML A

The web browser understands HTML codes and display
content of the:

e b S b ed L.l S HTML (s

Data (3 D Design Bl%

Website eA-s B Webpage & A

HTML is an abbreviation is:

:c HTML

Hyper text marking ‘ D ‘ Hyper text mark up ‘ C

Heavy text mark up ‘ B ‘ Higer text markup ‘ A
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language | | language language ‘ | language

LB g 4, E e f Ay ER IS b LR Ay
Web server replies in the form of -kl &ﬂtﬁ U/ B B/ s
NONE D | FILE CSS | B | HTML A
Language is used to create website. -C‘-JMJL":“” 6)’? L Lttt
None D | Gt HTML /B | CSS A
The term hypertext is derived from: -‘ééf Sai b § et 4y
All of these D | Hyper link CSS | B| HTML A
<p> tag ends with: _‘ab'nf’ L<p>
<pp> (] <p/> </p B <p> A
/ by P P Zs .
Pair tags consist of start tag and : 34.84—!«}’) /,u? ...... J,!H.G_ww?:/:c
None of these
St D Content »/»* B Mid wis A

There are of headings in HTML document. HTML U':&")ﬁf ------ -+G¢ » jjﬂJ (2
D | B 4 (A

The tag used to write the paragraph is: =+Vﬂdw'v§,&££~5‘ﬁﬁ
<pp> D l <paragraph> ‘ B ‘ <p> ‘ A

The tag used to break the line is: =+b’ﬂdb‘7"v§é£i-/ u—{/!( Y
<hr> ‘ D ‘ <br> <p> ‘ B ‘ <p> ‘ A
To make text bold, we use tag: :‘Lt’ndl.’;’léé W
<bd> D | <b> <br> | B | <bi> A

Which of the following tag is used for the most _
important heading: =9VMJWI.L££J,Q(ZI¢../..§VU;K e Stsoin

<h4> D | <h3> <h2> B <h1> (A
The <font> tag specifies the: <fon> ‘Lt'(v.l‘fdlﬁ’lééd—/ b B

All of these (l/“,: D Color of text ){Ku;‘ Font size #-o9 B | Fontstyles J/l?&} A

Face attribute of <font> tag defines the: ﬂét'/ byl HFace§ fusd

Font text &goss D Font color )(&/ Font style J/t’w:/"; Font size 7l-=:9 A
<i> is used to make text: i> o bl e 1L Lo SIS B

White §:5* D Blue & Tnverted b B Ttalic L5 A

Which tag is used to insert a space in text line of the

webpage: ?,Gb'l.'.‘.f( Jb""”‘.iéis-{"’tﬂ o L@;’ s L RS AY P
<&nbsp> ‘ D ‘ &nbsp; ‘ C nbsp ’ B ‘ href ‘ A

To create sub-heading within a webpage, we use: S Jb‘p’f"ééé—buﬁﬂu" Uf@' -t
All of these (172 D <h4>tag <h3>tag B <h2>tag A
Used to insert an extra space in the paragraph: =‘Lt'lg,l,r( Jlf'p'.iéiﬁ)'-‘-‘{/ gl uleﬁ G
<space> ‘ D ‘ &spac; &nbsb ’ B ‘ &nbsp; ‘ A

The number of heading tags is: 2‘41'97 d//? J,fbﬂ
Six # D Four Two » One (i A
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Tag used to enlarge text size: e b U fd LI Sinf k>
None of these ‘ D ‘ <font-size> ‘ C <size> ‘ B ‘ <font ‘ A
The latest version of HTML is: HTML ‘auﬁuq’}',gy%
HTMLS5 D | HTMLA | c HTML2 | B | HTML A

An individual list item can contain another entire list

_4‘-‘311{:4.3%6.*)»:.,{1111’%11 ANy
Definition list I D I Nested list Unordered list | B ‘ Ordered list ‘ A

The tag for unordered list is: :9.,,,6(&)/5/70!
None of these ‘ D ‘ <ul> ‘ C ‘ B ‘ <ol>

The tag for ordered list is:
<tr> (D | <li> lc B
Which one of the following is a type of list: ' 94‘-(3 Sele e vtditn
Definition lis Unordered list
Allof these 7, | D t eI Ordered list &/47 | B AT
The list where the order of items is not important: G‘(ldf 4'/..‘”3!( w7 1] f‘: (V-0
Definition list Unordered list

All of these (7 D It C | Orderedlist /547 | B AT A
algxﬁ‘dr,;w"%)d,y vi}'f"ﬁul‘a(}n("l%f}'d/ffuﬁ‘fﬁ—)

The list where the order of items is important, and if we

change the order it will become meaningless:
Definition list Unordered list

Allof these (i | D = Ordered list =547 | B AT

The list which show some terms along with their . . .
description is called; ‘Lduf(“édl'b( ‘U’.U‘{c" s S Vd:"l'u”"f," SU?
Definition list Unordered list

All off these (7, | D A Ordered list »/347 | B 2T

In "body" tag is used to make a picture of a

background image of a webpage. -‘Gt'l.'.lf( JWI&LL@/, £ “4%!/ -‘.CJ & %3-{'!( ----- ]
None bgimage background bg
D B

In a webpage, images are added with the: :‘Lbbﬁlﬁé L8

<fig> tag <fig> ¢ D | <img> tag <img> ¢ <ico> tag <ico> £ |B <pic> tag <pic> Y

can improve the design and the appearance of a

webpage? ‘LWUdﬂfuffd/;w/;mlqflﬁée"%::
Images ;sJ D Figures Jg/ S B Colors 3£ A

The attribute used with <image> tag are: ‘Lb'l!.l.r( Jeie g p 2L G

All of these 17 D Width/height Width/weight B Width/length A

The attribute that provide can alternate text for an R .
image, if the image is not displayed: :‘Lﬂ?.‘r’/ d(f':”'l-‘—fd/‘«-’ﬁé&/ﬁwd“ S Fe s /ng 1A

Alt D | Del C In B Ctrl [A
<body> YU e s K iit S LB s S 2 b B
The attribute of <body> tag that specifies background oay” ¥ J eI J/ ..«,-,;.J/ HUAEL

color of the web pages is: bl




pocolan (Mg S abuals) S gmas

Bg paint ’ D ’ Bg col ‘ C

Back color ‘ B ’ Bg color ’ A

The attributes that specifies the foreground text color
of the webpage is:

g.bbgdbplééé_)}f gf' zia_wié’ u:.J,J/ ALy SH

Text= I D I Fg color= ‘ C

| B | Txteol= A

Txt color=

Tag used for images in a web page:

:c‘_t‘lg.l,fdb"ﬂlugéﬁyuuﬁg%ﬁ

<bg> ‘ D ‘ <background>

<image> ‘ B ‘ <img> ‘ A

attribute provides an altenate text for an image:

:*&gdﬁl.&L;)&gd}?fd]/‘,ﬁ

All of these D | | c

text

| B | alt A

A hyperlink can be applied to ...... :

-AE.... A DAL

None of these u.‘fujé:( D Both of these Us»

Text o-f&

B Image /,;‘7 A

The tag for hyperlink is:

e BE G4,

<br> D |

<alt> B ‘ <hyperlink> ‘ A

In hyperlink images are define with

o Qo062 nLS I G..... 0PSB

<img> D]

<pic> ‘ B ‘ <scr> ‘ A

The icon, graphic or text in a webpage that when
clicked , takes to you some other webpage is called:

L{,(‘j} %JG/’)J‘/ P .,.T‘ngy’..‘@.,ef i.‘wg.l‘..ﬁﬂu’g’ TK@" -7
e bl e blolle

Hyper link Y ( D Next link _feg

High link 6} B Q link &5/ A

The attribute which is used with <a> tag or a specify
the URL of the linked webpage is:

JL LL S URLEE cor b A L<a>f S oS o
e bl

Href D | Alt

&nbsp ‘ B ‘ Nbsp ‘ A

The tag which is used to create an anchor link is:

S bl L3 684\ fa b n

<li> name </li> ‘ D ‘ <w> name </w>

<h> name </h> ‘ B ‘ <a> name </a> ‘ A

Used to move from one page to another page:

e bl U1 L Be e G

All of these (7 D List &

Table J‘f

B Hyperlink B b A

tag is used to display data in tabular form.

b L PSS B

th |D| tr

table | B | td A

The tag for creating table in HTML is:

HTML o f Z3 bt

<li> ‘ D ‘ <table>

<td> ‘ B ‘ <tr> ‘ A

The table row tag is:

e PHE LB L

<hr> D |

B A

Table header tag is:

<td>
b

:+,§ Clal JF

<header>

D

<th>

<td> B

Attribute are used to spread a row to more than one

row:

e bbb 1o g ud L4 g EUlB £ L1 A5 L

None of these ‘ D ‘ ‘ C

expand

rowspan ‘ B ‘ colspan ‘ A

Answer Keys

(9] (D) 4 (C)

5 (€) 6 (D) (B)

(c) (© | 12 | (0

13 | (D) 14 | (D) (B)

(A) (B) | 20 | (€

21 | (D) | 22 | (B) (€)
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28 | (D) | 29
36 | (B) | 37
a4 | (D) | 45
52 | (A) | 53
60 | (D) | 61
68 | (B) | 69
76 | (A) | 77
84 | (D) | 85
92 | () | 93
(A)
(B)
(B)
(B)
(A)
(A)
(€)
(D)
(D)
(B)
(A)
(D)
(D)
(A)
(B)
()
(€)
()
(D)
(D)
(D)
(A)
(A)
(€)
(€)
(B)
(B)
(B)
(B)
(B)
(D)
(D)
(A)
(B)
(B)
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380 | (D)

381

388 | (D)

389

396 | (B)

397

404 | (B)

405

412 | (Q)

413

420 | (D)

421

428 | (Q)

429

436 | (D)

437

(A)

445

Draw the flowchart for the following
problem: Input two numbers n1 and n2.
Determine whether n1 divides n2 or not.

,:JJL.U:,NZJ)’N1/2})}C'—JJLJ ..ufb;_wlg:gééd.'}(w
e e b ST PN AN

Draw the flowchart for the following
problem: Input a year and determine
whether it is a leap year or not.

_&dl/éf/,ul’éib‘guladjb -dﬂ‘«zh‘wlgﬁé ZSstn

Draw the flowchart for the following
problem: Input a number and calculate its
factorial.

Kumlu:’.gula.;’/u/.{l -dﬂ‘«zh‘wlgﬁé Z:J”;'Zy/)
Y )//l?d;/;‘?

Draw the flowchart for the following
problem: Find LCM of two numbers.

LI MU Ay Sesde b L LSt

Draw the flowchart for the following
problem: Input a number and display its
factors.

&/u{’ ey Loyl -ufb;.‘wlg;gé Zdstw
LI F AR L

What is meant by problem?

P e

What is meant by problem solving?

P e S L b

Write the names of steps for problem solving.

_q//,j'(téd’l/éi.fd’.l’/

Why is it important to understand the problem in
solving the problem?

Selinpudtd Siptd S s

Write the importance of planning for problem
solving.

S et S By LSS

What do you know about candid solution?

S Tt AL skl

What is meant by selecting the best solution?

?q_)l/.lfad'_/..,«‘;;dpq’ﬁ{

Define flowchart.

IS

Describe the importance of flowchart for
problem solving.

S et S g bt S L e

Describe the flowchart requirements.

- S el (:J.L.u Yol J u‘.’//lg)l;

Write a flow chart to find even and odd numbers.

S g B S5 Sl
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